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Find the correct answers (a, b, ¢, or d) and mark them on your answer sheets.
i-He should be ashamed of his d behaviour. "Behaviour” means............ :
a. benefits b. distinctions . corporation d. manners
2- The property or money that has been passed on from parents to children is called. ...
a. prestige b courage C. average d. heritage
3-Socity is, first of all, one type of organization.

a. minor b. social ¢. biological

a. compare
5-1 can't find any

a. distinction

a. ignores

7-Police is searching for the

b. doesn't do ¢. commits d. stops
¢ why his behavior has changed. "Perceive” means............ .
b. notice ¢. ignore d. destroy
9- You should study your books and very carefully.
a. systematic b .systemnatize . systematizes d. systematically

10-His behaviour is not because he is not a stable man.

a. predicts b. predictable ¢. prediction d. predictably

11-The person with right to receive a dead person’s property is called............ .
a. her b. hair c. heir d. hear
12-Only the residents have the privilege to park here. "Privilege” means.......... .

a. deletion b. no right ¢. special right d. omission
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13-She has consolidated her position by her recent achievements. "Consolidated"” means.......... .
a. strengthened b. weakened c. decreased d. prevented
14-The conflict model does not give all sectors of society equal importance. "Sectors” means........ .
a. individuals b. prices C. pairs
15-1 would like to be a in future.
a. politics b. politician ¢. political
16-We live not in one society where each group within which
"Which" refers to........... .

a. we b. society

means............ .
a. lived in b. left ou
18-The teacher asked me to

4. moderate

a. compete b. conflict ¢. complete d. comparative

21-What is the language in your country?

a. officiate b. official c. officiates d. officially
22-My netion is that you'd better study geography. "Notion" means........... .

a. nation b. motion c. idea d. section
23- The statement seems to be wrong. I can't verify it. "Verify" means........... .

a. confirm b. reject c. refuse d. reform
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24-French sociologist Emile Durkheim believed the limits of human potential are based socially,
1176 U .
a. geographically b. legally c. logically d. biologically
25- The government members reached an irrevocable decision. "Trrevocable™ means.. ..
A okl b. ke C. Jgsb Jols e
26- The recent earthquake in china was destructive. "Destructive”

LN b.&;_};';.a C. diad geu

27-The capitalist class is composed of the people who own a

"Capitalist” means............. .

a, b.f.\:is.):\}‘j: b.JiJ‘L_:La‘).‘.u L & A‘-' d. _}JJL:E;S

28- He disagreed with Marx's ide ¢OnQMiEs 1 Cenirai force in social change. "Economics”

means............. .

a. Lgdha.'ﬁi

29-My brother has a high job+h the faculty of sociology. " Faculty” means.......... .
C. o) d.o&aatd

30-The spart iwhich two persons try to throw each other to the ground is called wrestling.
"Wrestling” means............ i

A, sisen b. JLies C. a3 d. sty
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